& E NI CusamER SR TR E Bl/ki) A6 E
H H % IR AL TR 45151 5141 6110 H 7H8H 8J113H 9J19H 10JJ28H | 11)J18H 12191 1200 20 17TH 343H B KA e/ Mt SRt
K " O C ) 14.6 18.6 21.7 26.4 28.2 27.9 22.4 19.0 12.7 7.7 5.6 6.6 28.2 5.6 17.6
— M M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W L] g A g A g A g g g g g g A g A g
AREIV AR OZOEY =0.003 0.0003 < < < < < < < < < < < < < < <
KB E O 2 0o b & P =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kO o0 AED =0.01 0.001 < < < < < < < < < < < < < < <
n kK O 2 o &b A& B =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0O &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o B = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM A A RO T =0.01 0.001 -— — < — — < — — < — — < < < <
T EER AR RN 3 EES =10 0.10 0.45 0.47 0.43 0.52 0.43 0.46 0.50 0.52 0.59 0.53 0.51 0.53 0.59 0.43 0.50
7 v E E B ZE 0 AED =0.8 0.05 < < 0.06 < < < < < < < < < 0.06 < <
kv FE K O®EOWLRAEDY =1.0 0.1 < < < < < < < < < < < < < < <
it} B e R # =0.002 0.0002 < < < < < < < < < < < < < < <
" L4- ¥ 4 x ¥ v <0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o om X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7/ mm x F L v =0.01 0.001 < < < < < < < < < < < < < < <
KUY / mom = F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < < <
H ES % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 =4 = e i =0.02 0.002 = - < - — < — - < - — < < < <
s m wm K A A =<0.06 0.001 < 0.003 0.005 0.004 0.004 0.005 0.003 0.002 0.002 < 0.002 0.001 0.005 < 0.002
Y 7 v oo @B =0.03 0.002 = = < - — < — - < - — < < < <
Y 7 m ® J ouowa A K v =0.1 0.001 < < 0.002 0.001 0.002 0.002 0.002 0.002 0.001 < 0.001 0.001 0.002 < 0.001
i F# i3 =0.01 0.001 — — < — — < -— — < — -— < < < <
[2-3 N R NI = S S 2 =0.1 0.001 < 0.005 0.010 0.007 0.009 0.010 0.008 0.006 0.005 < 0.005 0.003 0.010 < 0.006
K YU s v owm EE R =0.03 0.002 — — 0.003 — — 0.003 — — < — — < 0.003 < <
7w ® Yy owuoum kK v =0.03 0.001 < 0.002 0.003 0.002 0.003 0.003 0.003 0.002 0.002 0.001 0.002 0.001 0.003 < 0.002
7 v ® Ak A A =<0.09 0.001 < < < < < < < < < < < < < < <
B v A T L F bR =0.08 0.005 -— -—- < -—- -— < -— -— < -— -— < < < <
o k2 ok &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLAR OB ZOED =0.2 0.01 < 0.01 0.02 0.01 0.03 0.02 0.02 0.02 < < < < 0.03 < 0.01
% kK O £ O & & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < 0.02 < < < < < < < < 0.02 < <
FTRrIDVARUVCZDEKEDY =200 1.0 4.8 5.0 5.3 5.0 5.4 bi5 6.2 5.8 545 bi5 5.6 5.7 6.2 4.8 5.4
~rH kR ORZEONEDY =0.05 0.005 < < < < < < < < < < < < < < <
B ok 4 * v =200 1.0 543 5.8 5.6 5.2 5.6 5.4 6.1 5.8 5.8 6.2 6.9 7.7 7.7 5.2 6.0
NIV DT FU T LN ) =300 1 32 35 37 37 38 38 41 40 35 37 37 35 41 32 37
A& % ¥ B L7} =500 1 63 63 52 64 70 70 70 72 66 54 70 63 72 52 65
bz A 4 v R om s A =0.2 0.02 -— — < — -— < — — < — — < < < <
Y = F Z X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | 000001 | 0.000001 < < < < < < 0.000001 < < < < < 0.000001 < <
kA A v R om E A =0.02 0.005 — -— < -— -— < -— -— < -— -— < < < <
7 = ) — L H =0.005 0.0005 — — < -— -— < -— -— < -— -— < < < <
OB S (& B R # (TOC) # ) =3 0.3 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.1 7.1 7.1 7.0 7.1 7.0 7.1 7.1 7.0 6.9 6.9 6.9 7.1 6.9 7.0
LS REThn RERL | BEARL | BEARL | BEARL | BAERL | BERL | BERL | BRERL | BREARL | BEARL | BELRL | BERL || BERL | BERL | BREARL
L & FE TR Rl | REAaL | BEARL | RBERL | BERL | BERL | BERL | REARL | BEARL | BESL | BERL | BERL || BELL | BERL | BRELL
i) B E ) =5 0.5 < < < < < < < < < < -— < < < <
il B K ) =2 0.2 < < < < < < < < < < < < < < <
23 2 b ES =0.1 0.1 0.2 0.2 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2
TN T REA G, I IR A A R T, < T
W, SRR BRY ., me/1ET %, (FR)ENL No.l




W OUBTEAR JUBERK L) ARG
T [ TR 4150 | 5H14H | 6H10H THSH 8H13H 9H9H | 10428H | 11418H | 12498 | 15208 | 2H17H 3J3H PN /Ml il
K il 15.0 19.3 22.3 26.1 29.4 29.5 23.5 19.3 13.8 7.9 74 7.4 29.5 7.4 18.4
[ - AE 5. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N ] AR AR AR AR AR AR ARt ARt ARt ARt ARt At At At At
B E Y 0.0003 < < < < < < < < < < < < < < <
AR B Z 0.00005 < < < < < < <
Ly kU E 0.001 < < < < < < < < < < < < < < <
[ S ) 0.001 < < < < < < < < < < < < < < <
S SO 0.001 < < < < < < < < < < < < < < <
A iz m oa 0.001 < < < < < < < < < < < < < < <
#off M fE 0.004 < < < < < < < < < < < < < < <
YT AEMAF R 0.001 < < < < < < <
Sk | % % Ot 0.10 0.45 0.46 0.45 0.50 0.41 0.47 0.50 0.53 0.59 0.53 0.50 0.53 0.59 0.41 0.49
X 0.05 < < 0.06 < < < < < < < < < 0.06 < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
% 0.001 0.002 0.003 0.005 0.004 0.007 0.007 0.004 0.003 0.002 0.001 0.002 0.002 0.007 001 004
0.002 < < < < < < <
0.001 0.001 0.001 0.002 0.002 0.003 0.003 0.003 0.002 0.002 0.001 0.002 0.002 0.003 0.001 0.002
0.001 < < < < < < <
0.001 0.005 0.006 0.010 0.009 0.014 0.014 0.011 0.008 0.006 0.003 0.006 0.006 0.014 0.003 0.008
0.002 0.003 0.003 < < 0.003 < <
kS 0.001 0.002 0.002 0.003 0.003 0.004 0.004 0.004 0.003 0.002 0.001 0.002 0.002 0.004 0.001 0.003
0.001 < < < < < < < < < < < < < < <
7 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < < <
TNI=UVLRUVTZOHEY 0.01 < 0.01 0.02 0.01 0.03 0.02 0.02 0.02 < < < < 0.03 < 0.01
& R B 2 o f & B 0.01 < < < < < < < < < < < < < < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FTrIv ARV EDOHEY 1.0 4.8 5.2 5.1 5.1 5.5 5.5 6.2 5.7 5.4 5.6 5.6 5.7 6.2 4.8 5.5
~VYH R EOEY 0.005 < < < < < < < < < < < < < < <
b . B G 1.0 k 6 2 7.5 5
ANTY D= T F T DECHE K ) 1
r_E B 17} 1
e+ 7 > nomwmw 0.02
¥ x * A 2 v 0.000001
2-AF VAV KRN FF — 0.000001
I A A v R om i A 0.005
7 E / - v H 0.0005
B % (2 B B (TOC) ) 0.3
pH 5.8~8.6
S
2 £
& K % ) 0.5 < < < < < < < < < < <
i) g ) 0.2 < < < < < < < < < < <
23 kil i # 0.1 0.2 0.2 0.1 0.2 0.1 0.1 0.1 0.1 0.2 0.2 0.2

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

(R 7

No.2




(CEAE S

Ouge AR LBl

Bk )

TG

i H F Rt 4H15H 5H14H 6 10H TH8H 8H13H 9H9H 10428H | 11/18H [ 12/9H 1208 2H17H 3H3H [reN SR/ Ml i
& [ 14.7 17.1 20.4 23.2 21.3 21.7 23.4 19.9 15.4 9.9 7.9 7.9 21.7 7.9 17.9
[ - AE 5. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N ] AR AR it it it it Rttt Rttt Rttt Rttt Rttt Attt Attt Attt Attt
B 0.0003 < < < < < < < < < < < < < < <
AR B Z 0.00005 < < < < < < <
Ly kU E 0.001 < < < < < < < < < < < < < < <
R U % O 0.001 < < < < < < < < < < < < < < <
S SO 0.001 < < < < < < < < < < < < < < <
A iz o\ A 0.001 < < < < < < < < < < < < < < <
diff  EE RE 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A2 R R OY AR 0.10 0.44 0.46 0.45 0.52 0.42 0.47 0.50 0.52 0.60 0.52 0.50 0.53 0.60 0.42 0.49
X 0.05 < < 0.07 < < < < < < < < < .07 < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
& 0.001 0.002 0.003 0.005 0.003 0.005 0.006 0.003 0.002 0.002 0.001 0.002 0.002 006 0.001 003
0.002 < < < < < < <
0.001 < < 0.002 < 0.002 0.002 0.002 0.002 0.001 0.001 0.002 0.001 0.002 < 0.001
0.001 < < < < < < <
0.001 0.004 0.005 0.010 0.005 0.010 0.012 0.008 0.006 0.005 0.003 0.006 0.005 0.012 0.003 0.007
0.002 0.003 0.003 < < 0.003 < <
L 0.001 0.002 0.002 0.003 0.002 0.003 0.004 0.003 0.002 0.002 0.001 0.002 0.002 0.004 0.001 0.002
0.001 < < < < < < < < < < < < < < <
7 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < < <
TANI=ZD ARG ZDOEY 0.01 < 0.01 0.02 0.01 0.04 0.03 0.03 0.02 0.01 < < < 0.04 < 0.01
& R B 2 o f & B 0.01 < < < < < < < < < < < < < < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 4.8 5.1 5.2 5.0 5.4 5.4 6.2 5.8 5.4 5.5 5.6 5.6 6.2 4.8 5.4
~VYH R EOEY 0.005 < < < < < < < < < < < < < < <
b . B G 1.0 2 6 é 5.5
ANVY LT Ry LFECH ) 1
r_E B 7] 1
e+ 7 > nomwmw 0.2
Y = X A = v 0.000001
2-AF VAV KRN FF — 0.000001
I A A v R om i A 0.005
7 = ) - A H 0.0005
A B (2 A B B SR (TOC) B ) 0.3
pH 5.8~8.6
S
2 £
& o & ) 0.5
o) KEoC k) 0.2
7% # i # 0.1

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

GO

No.3




F LB

w7k i)

TG

AR LBk

T [ % TR 4150 | 5H14H | 6H10H TH8H | 8HI3H 9H9H | 10H28H | 11AI8H | 12/9H | 14200 | 2H17H 3J3H PN S/ Mt il
16.8 20.1 23.7 26.5 311 30.6 22.4 20.2 13.7 8.2 7.9 8.2 311 7.9 19.1
=100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
iR AR AR AR AR AR AR ARt ARt ARt ARt ARt At At At At
0.0003 < < < < < < < < < < < < < < <
0.00005 < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
S ¢ 0.001 < < < < < < < < < < < < < < <
A i 2 0.001 < < < < < < < < < < < < < < <
# i 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A A K i 0.10 0.44 0.45 0.43 0.51 0.41 0.46 0.50 0.52 0.59 0.52 0.50 0.53 0.59 0.41 0.49
0.05 < < 0.07 < < < < < < < < < 0.07 < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
& 0.001 0.002 0.003 0.005 0.003 0.006 0.006 0.003 0.002 0.002 0.001 0.002 0.002 0.006 0.001 003
0.002 < < < < < < <
0.001 0.001 0.001 0.002 < 0.003 0.002 0.002 0.002 0.001 0.001 0.002 0.002 0.003 < 0.002
0.001 < < < < < < <
0.001 0.005 0.006 0.010 0.005 0.013 0.012 0.008 0.006 0.005 0.003 0.006 0.006 0.013 0.003 0.007
0.002 0.003 0.004 < < 0.004 < <
L 0.001 0.002 0.002 0.003 0.002 0.004 0.004 0.003 0.002 0.002 0.001 0.002 0.002 0.004 0.001 0.002
0.001 < < < < < < < < < < < < < < <
K A s T N T k| 0.005 < < < < < < <
B kR0 AE Y 0.01 < 0.01 < < < < < < < < < < 0.01 < <
TANI=ZD ARG ZDOEY 0.01 < 0.01 0.02 0.01 0.03 0.03 0.02 0.02 < < < < 0.03 < 0.01
& R B 2 o f & B 0.01 < < < < < < < < < < < < < < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 4.8 5.1 5.2 5.1 5.5 5.5 6.2 5.8 5.5 5.5 5.6 5.8 6.2 4.8 515
~VYH R EOEY 0.005 < < < < < < < < < < < < < < <
b . B G 1.0 p 6 6 p 6 6 6
ANTY D= T F T DECHE K ) 1
r_E B 7] 1
e+ 7 > nomwmw 0.2
Y = X A = v 0.000001
2-AF VAV KRN FF — 0.000001
I A A v R om i A 0.005
7 = ) - A H 0.0005
B % (2 B B (TOC) ) 0.3
pH 5.8~8.6
S
2 £
& o & ) 0.5
o) KEoC k) 0.2
7% # i # 0.1

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

(EAEH Nod




EHTEAHE3TH

(ARG PR )

TG

i H F Rt 4H15H | 5H14H | 6H10H TH8H 8H13H 9H9H 10428H | 11/18H [ 12/9H 14200 | 2H17H 3H3H [reN SR/ Ml i
K 16.4 16.9 18.7 19.7 21.6 21.7 19.0 16.8 15.0 11.1 11.9 11.6 21.7 111 16.7
i A 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N AR AR AR AR AR AR ARt ARt ARt ARt ARt At At At At
B E Y 0.0003 < < < < < < < < < < < < < < <
AR T 0.00005 < < < < < < <
LRk 0.001 < < < < < < < < < < < < < < <
#w Rk O 0.001 < < < < < < < < < < < < < < <
S ¢ 0.001 < < < < < < < < < < < < < < <
A i 2 0.001 < < < < < < < < < < < < < < <
# i 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A A K i 0.10 0.51 0.51 0.62 0.62 0.63 0.64 0.63 0.63 0.64 0.64 0.62 0.64 0.64 0.51 0.61
0.05 < < 0.08 < < < < < < < < < 0.08 < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
% 0.001 < < < < < < < < < < < < < < <
0.002 < < < < < < <
0.001 < < 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.003 0.002 003 < 0.002
0.001 < < < < < < <
0.001 < < 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.005 0.003 0.005 < 0.002
0.002 < < < < < < <
L 0.001 < < < < < < < < < < 0.001 < 0.001 < <
0.001 < < < < < < < < < < 0.001 0.001 0.001 < <
7 0.005 < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < <
TAI=ULRVGZOEY 0.01 < < < < < < < < < < < < <
& R B 2 o f & B 0.01 < < < < < < < < < < < < <
w2 0o (b & 8 0.01 < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 114 1.7 12.3 12.1 12.7 12.3 12.5 12.9 14.0 13.4 14.0 114 12.5
~VYH R EOEY 0.005 < < < < < < < < < < < < <
O R SR 1.0 8.9 8.7 8.8 8.8 8.7 8.7 8.9 9.3 11.0 10.3 11.0 8.6 9.1
P RS IE WD) 1 86 86 78 76 78 76 75 78 86 81 86 75 79
N 7] 1 134 128 120 134 120 124 121 124 130 132 134 120
" 17> 5m Al 0.02 — — < — — — < — — < < <
Y = X A = v 0.000001 < < 0.000001 0.000001 | 0.000001 | 0.000001 | 0.000001 | 0.000002 | 0.000002 || 0.000002 <
ZAFNAYE N RA = 0.000001 < < < < < < < < < < <
H A A v R OwE E A 0.005 = = = < <
7 = J = N H 0.0005 — — - < <
Ay (AR (TOC) #&) 0.3 < < < < <
pH 5.8~8.6 7.6
U
2 £
& K % ) 0.5 < < < < < <
i) g k) 0.2 < < < < < < < < < < < < <
& heth #H # 0.1 0.3 0.4 0.3 0.4 0.3 0.2 0.3 0.2 0.3 0.3 0.2 0.2 0.3

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

FVEARM  No.b




T RN (LA

A BLKHL)

A6

T [ % TR 4150 | 5H14H | 6H10H TH8H | 8HI3H 9H9H | 10H28H | 11AI8H | 12/9H | 14200 | 2H17H 3J3H PN S/ Mt il
16.1 18.6 21.3 21.3 28.6 28.5 22.9 19.9 13.2 8.9 5.1 7.1 28.6 5.1 18.1
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AR AR AR AR AR AR ARt ARt ARt ARt ARt At At At At
0.0003 < < < < < < < < < < < < < < <
0.00005 < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
S ¢ 0.001 < < < < < < < < < < < < < < <
A i 2 0.001 < < < < < < < < < < < < < < <
# i 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A A K i 0.10 0.43 0.43 0.41 0.43 0.39 0.42 0.44 0.45 0.47 0.46 0.45 047 047 0.39 0.44
0.05 < < 0.06 < < < < < < < < < 0.06 < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
& 0.001 0.001 0.003 .004 0.004 0.004 0.005 0.002 0.001 < < 0.001 001 005 < 002
0.002 < < < < < < <
0.001 0.001 0.002 0.003 0.002 0.003 0.004 0.002 0.002 0.002 0.001 0.001 0.001 0.004 0.001 0.002
0.001 < < < < < < <
0.001 0.003 0.007 0.010 0.009 0.011 0.013 0.006 0.005 0.003 < 0.003 0.003 0.013 < 0.006
0.002 < 0.003 < < 0.003 < <
L 0.001 0.001 0.002 0.003 0.003 0.004 0.004 0.002 0.002 0.001 < 0.001 0.001 0.004 < 0.002
0.001 < < < < < < < < < < < < < < <
S A N - 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < < <
TAI=ULRVGZOEY 0.01 < < < < 0.01 0.01 0.01 < < < < < 0.01 < <
& R B 2 o f & B 0.01 < < < < < < < < < < < < < < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 7.2 7.2 7.5 7.3 8.0 8.1 8.5 7.9 7.9 7.9 7.8 7.7 8.5 7.2 7.7
~VYH R EOEY 0.005 < < < < < < < < < < < < < < <
O R SR 1.0 7.1 7.0 : 6 8
NGB = TRy L E) 1 61 61
r_E B 7] 1 89 93
e+ 7 > nomwmw 0.2
Y = X A = v 0.000001 < <
-AF ALY RN F I — N 0.000001 < <
H A A v R OwE E A 0.005 = =
7 = ) - A H 0.0005 — —
Ay (AR (TOC) #&) 0.3 < <
pH 5.8~8.6 74
S RERL
82 S Sl
i) K % ) 0.5 < <
i) o g ) 0.2 < <
% # #H # 0.1 0.2 0.2

T FRMEA, AR AR T,
B, FRARORVIRY | mg/18T %,

() =%

No.6



@ ATy

(BRHEARR FREBLKES)

A6

i H F Rt 4H15H 5H14H 6 10H TH8H 8H13H 9H9H 10428H | 11/18H [ 12/9H 1208 2H17H 3H3H [reN SR/ Ml i
& 14.7 18.0 21.4 24.1 28.8 28.9 23.7 20.3 16.0 10.1 8.4 8.3 28.9 8.3 18.6
i A 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N it it it it it it Rttt Rttt Rttt Rttt Rttt Attt Attt Attt Attt
B 0.0003 < < < < < < < < < < < < < < <
K H R TG 0.00005 < < < < < <
LR 0.001 < < < < < < < < < < < < < <
#w Rk O 0.001 < < < < < < < < < < < < < <
e SN 0.001 < < < < < < < < < < < < < <
A i 2 0.001 < < < < < < < < < < < < < <
diff  EE RE 0.004 < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < <
Sk | B A2 R R OY AR 0.10 0.99 0.97 0.99 0.96 0.98 0.97 0.74 0.76 0.78 0.78 0.74 0.77 .99 0.74
3 0.05 < < 0.06 < < < < < < < < < .06 <
0.1 < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < <
0.06 < < < < < < < <
0.002 < < < < < <
& 0.001 < < < < < < 0.002 0.001 < < 0.001 001 002 <
0.002 < < < < < <
0.001 < < < < < < 0.002 0.001 0.001 < 0.001 0.001 0.002 <
0.001 < < < < < <
0.001 < < < < < < 0.006 0.003 0.002 < 0.003 0.003 0.006 <
0.002 < < < < < <
L 0.001 < < < < < < 0.002 0.001 0.001 < 0.001 0.001 0.002 <
0.001 < < < < < < < < < < < < < <
7 0.005 < < < <
CE O N S = ) 0.01 < < < < < < < <
TAI=ULRVGZOEY 0.01 < < < < < < < <
% B 0 £ & W 0.01 < 0.01 < < < < 0.01 <
Al ¢ 2 0 £ a®m 0.01 < < < < < < < <
FrIV ARG EDOIAEY 1.0 12.7 10.0 9.7 9.7 10.2 8.1 12.7 7.7
~VYH R EOEY 0.005 < < < < < < < <
O R SR 1.0 8.4 8.2 8.3 8.2 8.2 8.0 8.4 7.1
P RS IE WD) 1 99 99 100 98 99 70 101 69
N 7] 1 144 152 136 160 152 112 160 106
e+ 7 > nomwmw 0.2 < < < <
Y = X A = v 0.000001 < < < < < < < <
ZAFNAYE N RA = 0.000001 < < < < < < < <
H A A v F o IE A 0.005 = = < = = < < <
7 = /= N 0.0005 f— f— < f— f— < < <
4B % (2 A % B % (TOC) &) 0.3 < < < < < < < <
pH 5.8~8.6 7.7 7.7 7.7 7.7 7.7 7.4 7.7 7.4
S
2 £
i) K % ) 0.5 < < < < <
i) g k) 0.2 < < < < < <
% # #H # 0.1 0.2 0.2 0.2 0.1 0.2 0.2
<HE TR IRMmAEET, UF)—H  No.7

B, FRARORVIRY | mg/18T %,




IR

ONPEARR JIPELA )

TG

i H F Rt 4H15H 5H14H 6 10H TH8H 8H13H 9H9H 10428H | 11/18H [ 12/9H 1208 2H17H 3H3H [reN SR/ Ml i
& [ 15.6 18.0 20.6 23.5 28.3 28.5 21.7 18.2 14.1 7.2 7.8 8.4 28.5 7.2 17.7
[ - AE 5. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N ] AR AR it it it it Rttt Rttt Rttt Rttt Rttt Attt Attt Attt Attt
B 0.0003 < < < < < < < < < < < < < < <
AR B Z 0.00005 < < < < < < <
Ly kU E 0.001 < < < < < < < < < < < < < < <
R U % O 0.001 < < < < < < < < < < < < < < <
S SO 0.001 < < < < < < < < < < < < < < <
A iz o\ A 0.001 < < < < < < < < < < < < < < <
diff  EE RE 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A2 R R OY AR 0.10 0.45 0.46 0.45 0.49 0.41 0.47 0.50 0.53 0.57 0.53 0.49 0.53 0.57 0.41 0.49
3 0.05 < < < < < < < < < < < < < < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
& 0.001 0.002 0.004 0.007 0.005 0.007 0.008 0.004 0.003 0.002 0.001 0.002 0.002 0.008 001 004
0.002 < < < < < < <
0.001 0.001 0.002 0.003 0.002 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.003 0.001 0.002
0.001 < < < < < < <
0.001 0.005 0.009 0.014 0.010 0.015 0.016 0.011 0.008 0.006 0.005 0.007 0.006 0.016 0.005 0.009
0.002 0.003 0.004 < < 0.004 < <
L 0.001 0.002 0.003 0.004 0.003 0.005 0.005 0.004 0.003 0.002 0.002 0.003 0.002 0.005 0.002 0.003
0.001 < < < < < < < < < < < < < < <
7 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < < <
TANI=ZD ARG ZDOEY 0.01 < 0.01 0.01 0.01 0.02 0.02 0.02 0.01 < < < < 0.02 < <
& R B 2 o f & B 0.01 < < < < < < < < < < < < < < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 4.8 5.2 5.1 5.0 5.5 5.5 6.1 5.7 5.4 5.7 5.7 5.8 6.1 4.8 515
~VYH R EOEY 0.005 < < < < < < < < < < < < < < <
b . B G 1.0 é E 7 6 5
ANVY LT Ry LFECH ) 1
r_E B 7] 1
e+ 7 > nomwmw 0.2
Y = X A = v 0.000001
2-AF VAV KRN FF — 0.000001
I A A v R om i A 0.005
7 = ) - A H 0.0005
A B (2 A B B SR (TOC) B ) 0.3
pH 5.8~8.6
U
2 £
& o & ) 0.5
o) KEoC k) 0.2
7% # i # 0.1

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

Gy

No.8




I — ERRT

ONPEASR —ESFMERT)

TG

i H F Rt 4H15H | 5H14H | 6H10H TH8H 8H13H 9H9H 10428H | 11/18H [ 12/9H 14200 | 2H17H 3H3H [reN SR/ Ml i
7k 14.4 17.2 21.2 24.0 28.4 28.4 23.2 15.0 14.1 7.5 6.8 7.2 28.4 6.8 17.3
it A 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N AR AR AR AR AR AR ARt ARt ARt ARt ARt At At At At
B E Y 0.0003 < < < < < < < < < < < < < < <
K H R TG 0.00005 < < < < < < <
LRk 0.001 < < < < < < < < < < < < < < <
#w Rk O 0.001 < < < < < < < < < < < < < < <
e SN 0.001 < < < < < < < < < < < < < < <
A i 2 0.001 < < < < < < < < < < < < < < <
# i i 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A2 R R OY AR 0.10 0.47 0.46 0.46 0.48 0.41 0.47 0.50 0.46 0.57 0.53 0.50 0.52 0.57 0.41 0.49
0.05 < < 0.06 < < < < < < < < < 0.06 < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
& 0.001 0.003 0.005 0.009 0.006 0.008 0.010 0.004 0.003 0.003 0.002 0.003 0.002 0.010 002 0.005
0.002 < 0.002 < < 0.002 < <
0.001 0.001 0.002 0.003 0.002 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.003 0.001 0.002
0.001 < < < < < < <
0.001 0.006 0.010 0.017 0.011 0.016 0.019 0.011 0.009 0.008 0.006 0.008 0.007 0.019 0.006 0.011
0.002 0.004 0.005 < < 0.005 < 0.002
L 0.001 0.002 0.003 0.005 0.003 0.005 0.006 0.004 0.003 0.003 0.002 0.003 0.003 0.006 0.002 0.004
0.001 < < < < < < < < < < < < < < <
7 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < < <
TANI=ZD ARG ZDOEY 0.01 < 0.01 0.02 0.01 0.02 0.02 0.02 0.01 0.01 < < < 0.02 < 0.01
& R B 2 o f & B 0.01 < < < < < < < < < < < < < < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 4.9 5.2 5.1 5.1 5.4 5.6 6.2 5.8 5.4 5.8 5.8 5.8 6.2 4.9 515
~VYH R EOEY 0.005 < < < < < < < < < < < < < < <
b . B G 1.0 E 6 6 6
ANTY D= T F T DECHE K ) 1
r_E B 7] 1
e+ 7 > nomwmw 0.2
Y = X A = v 0.000001
2-AF VAV KRN FF — 0.000001
I A A v R om i A 0.005
7 = ) - A H 0.0005
B % (2 B B (TOC) ) 0.3
pH 5.8~8.6
S
2 £
& K % ) 0.5 < < < < < < < < < < <
] o g ) 0.2 < < < < < < < < < < <
% heth #H # 0.1 0.2 0.2 0.2 0.3 0.2 0.2 0.3 0.2 0.2 0.2 0.2

T FRMEA, AR AR T,
B, FRARORVIRY | mg/18T %,

)~

No.9




PHAERT

ONVEARR 1174 FEBL A )

TG

R

i H F Rt 4H15H 5H14H 6 10H TH8H 8H13H 9H9H 10428H | 11/18H [ 12/9H 1208 2H17H 3H3H [reN SR/ Ml i
7k 15.7 18.1 22.6 25.0 28.9 29.2 22.6 18.8 14.0 9.9 8.5 8.6 29.2 8.5 18.5
it A 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
X At At At At At At At At At At At At At At At
B 0.0003 < < < < < < < < < < < < < < <
K H R TG 0.00005 < < < < < < <
LR 0.001 < < < < < < < < < < < < < < <
#w Rk O 0.001 < < < < < < < < < < < < < < <
e SN 0.001 < < < < < < < < < < < < < < <
A iz 0.001 < < < < < < < < < < < < < < <
diff  EE RE 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A2 R R OY AR 0.10 0.47 0.47 0.45 0.48 0.41 0.47 0.49 0.53 0.57 0.54 0.50 0.51 0.57 0.41 0.49
3 0.05 < < 0.06 < < < < < < < < < 0.06 < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
& 0.001 0.002 0.005 0.007 0.006 0.008 0.010 0.005 0.003 0.003 0.002 0.002 0.002 0.010 002 0.005
0.002 < < < < < < <
0.001 0.001 0.002 0.003 0.002 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.003 0.001 0.002
0.001 < < < < < < <
0.001 0.006 0.010 0.015 0.012 0.017 0.019 0.012 0.010 0.008 0.006 0.007 0.006 0.019 0.006 0.011
0.002 0.004 0.005 < < 0.005 < 0.002
L 0.001 0.002 0.003 0.005 0.004 0.006 0.006 0.004 0.004 0.003 0.002 0.003 0.002 0.006 0.002 0.004
0.001 < < < < < < < < < < < < < < <
7 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < <
TANI=ZD ARG ZDOEY 0.01 < < 0.01 0.01 02 0.02 0.02 0.01 < < < < 0.02 < <
% B 0 £ & W 0.01 0.01 0.02 < 0.02 2 < < < < < < < 0.02 < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 4.9 5.2 5.1 5.1 5.6 5.6 6.1 5.8 5.5 5.8 5.8 5.8 6.1 4.9 515
~rvH RO EOREY 0.005 < < < < < < < < < < < < < < <
O R SR 1.0 5.5 5.8 : 6 6 6 6
NGB = TRy L E) 1 34 37
r_E B 7] 1 53 62
e+ 7 > nomwmw 0.2
Y = X A = v 0.000001 < <
-AF ALY RN F I — N 0.000001 < <
H A A v R OwE E A 0.005 = =
7 = ) — A H 0.0005 — —
HBE Y (B (TOC) #) 0.3 <
pH 5.8~8.6 74
S RERL
82 S Sl
& g ) 0.5 < <
&) g ) 0.2 < <
% # # # 0.1 0.2 0.2

T FRMEA, AR AR T,
B, FRARORVIRY | mg/18T %,

GEYINHE

No.10




CEAEES LI

(IR EARR IR ESELKM)

TG

H H it 4150 | 5H14H | 6H10H THSH 8H13H 9H9H | 10H28H | 11AI8H | 12/9H | 14200 | 2H17H 3J3H PN /Mt S
K [ 15.5 19.5 23.1 26.8 29.2 29.2 22.5 20.1 13.6 9.6 7.2 8.6 29.2 7.2 18.7
[ - AE 5. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N ] AR AR AR AR AR AR ARt ARt ARt ARt ARt At At At At
B E Y 0.0003 < < < < < < < < < < < < < < <
AR B Z 0.00005 < < < < < < <
Ly kU E 0.001 < < < < < < < < < < < < < < <
[ S ) 0.001 < < < < < < < < < < < < < < <
S SO 0.001 < < < < < < < < < < < < < < <
A iz m oa 0.001 < < < < < < < < < < < < < < <
#off M fE 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A2 R R OY AR 0.10 0.61 0.63 0.60 0.58 0.54 0.55 0.48 0.53 0.63 0.96 0.80 0.78 .96 0.48 0.64
X 0.05 < < 0.07 < < 0.06 < < < < < < .07 < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
& 0.001 0.001 0.002 .004 0.002 0.003 0.003 0.002 0.001 0.001 < 0.001 < 004 < 002
0.002 < < < < < < <
0.001 < 0.001 0.002 0.001 0.002 0.002 0.002 0.001 0.002 0.001 0.001 < 0.002 < 0.001
0.001 < < < < < < <
0.001 0.002 0.005 0.009 0.005 0.007 0.008 0.006 0.004 0.005 0.002 0.003 < 0.009 < 0.005
0.002 < 0.002 < < 0.002 < <
L 0.001 0.001 0.002 0.003 0.002 0.002 0.003 0.002 0.002 0.002 0.001 0.001 < 0.003 < 0.002
0.001 < < < < < < < < < < < < < < <
7 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < < <
TNI=ZU AR TBZEDOWEDY 0.01 < < < < < < < < < < < < < < <
& R B 2 o f & B 0.01 < < < < < < < < < < < < < < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 5.8 6.0 5.9 5.9 6.3 6.3 6.7 6.6 6.3 6.6 6.6 6.5 6.7 5.8 6.3
~VYH R EOEY 0.005 < < < < < < < < < < < < < < <
b . B G 1.0 6.8 6.5 2 6
NGB = TRy L E) 1 39 41
r_E B 7] 1 58 67
e+ 7 > nomwmw 0.2
Y = X A = v 0.000001 < <
-AF ALY RN F I — N 0.000001 < <
H A A v R OwE E A 0.005 = =
7 = ) - A H 0.0005 — —
Ay (AR (TOC) #&) 0.3 < <
pH 5.8~8.6 7.0
S RERL
82 £ Sl
& K % ) 0.5 < <
i) g k) 0.2 < <
% # #H # 0.1 0.2 0.2

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

(CORN]

No.11



TG =T

(IR AR PEHELK ML)

TG

T [ TR 4150 | 5H14H | 6H10H THSH 8H13H 9H9H | 10H28H | 11AI8H | 12/9H | 14200 | 2H17H 3J3H PN S/ Mt il
K [ 13.5 18.0 20.7 23.6 27.4 21.6 22.8 19.8 13.4 8.3 6.6 6.7 21.6 6.6 17.4
[ - AE 5. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N ] AR AR AR AR AR AR ARt ARt ARt ARt ARt At At At At
B E Y 0.0003 < < < < < < < < < < < < < < <
AR B Z 0.00005 < < < < < < <
Ly kU E 0.001 < < < < < < < < < < < < < < <
[ S ) 0.001 < < < < < < < < < < < < < < <
S SO 0.001 < < < < < < < < < < < < < < <
A iz m oa 0.001 < < < < < < < < < < < < < < <
#off M fE 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A2 R R OY AR 0.10 0.66 0.63 .62 0.59 0.56 0.55 0.48 0.54 0.62 0.96 0.85 0.78 0.96 0.48 0.65
X 0.05 < < .07 < < < < < < < < < 0.07 < <
0.1 < < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
& 0.001 0.001 0.003 .004 0.003 0.004 0.005 0.003 0.001 0.002 < 0.001 < 005 < 002
0.002 < < < < < < <
0.001 0.001 0.002 0.003 0.002 0.003 0.003 0.003 0.002 0.002 0.001 0.002 0.001 0.003 0.001 0.002
0.001 < < < < < < <
0.001 0.003 0.007 0.010 0.007 0.011 0.012 0.009 0.005 0.006 0.002 0.005 0.002 0.012 0.002 0.007
0.002 < 0.003 < < 0.003 < <
L 0.001 0.001 0.002 0.003 0.002 0.003 0.004 0.003 0.002 0.002 0.001 0.002 0.001 0.004 0.001 0.002
0.001 < < < < < < < < < < < < < < <
S A N - 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < < <
TANI=ZD ARG ZDOEY 0.01 < < < 0.01 0.01 0.01 < < 0.01 < < < 0.01 < <
% B 0 £ & W 0.01 0.04 < 0.02 0.04 0.05 0.02 0.03 0.03 0.05 0.07 0.03 < 0.07 < 0.03
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 5.9 6.0 5.8 6.0 6.4 6.3 6.8 6.5 6.3 6.8 6.8 6.6 6.8 5.8 6.3
~VYH R EOEY 0.005 < < < < < < < < < < < < < < <
O R SR 1.0 6 6 7.7 7.7
NGB = TRy L E) 1 44 49
r_E B 7] 1 70 82
e+ 7 > nomwmw 0.02 < <
Y = X A = v 0.000001 < <
2-AF AN AV BN FA — N 0.000001 < <
H A A v R OwE E A 0.005 < <
7 = J = N H 0.0005 < <
Ay (AR (TOC) #&) 0.3 < <
pH 5.8~8.6 6.9 7.3
S W
2 £
& K % ) 0.5 < < < < < < < < < < <
i) g k) 0.2 < < < < < < < < < < <
& B #H # 0.1 0.3 0.2 0.3 0.4 0.2 0.2 0.1 0.1 0.2 0.2 0.2

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

Pl =7

No.12




@ AE AT

(TERAR ERBLKHL)

A6

i H F Rt 4H15H 5H14H 6 10H TH8H 8H13H 9H9H 10428H | 11/18H [ 12/9H 1208 2H17H 3H3H [reN SR/ Ml i
& [ 13.6 17.1 20.8 20.8 21.0 26.9 22.6 19.3 13.3 8.8 6.4 7.2 21.0 6.4 17.0
[ - AE 5. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N ] AR AR AR AR it it Rttt Rttt Rttt Rttt Rttt Attt Attt Attt Attt
B 0.0003 < < < < < < < < < < < < < < <
AR B Z 0.00005 < < < < < < <
Ly kU E 0.001 < < < < < < < < < < < < < < <
R U % O 0.001 < < < < < < < < < < < < < < <
S SO 0.001 < < < < < < < < < < < < < < <
A iz o\ A 0.001 < < < < < < < < < < < < < < <
diff  EE RE 0.004 < < < < < < < < < < < < < < <
YT AF R 0.001 < < < < < < <
Sk | B A2 R R OY AR 0.10 0.47 0.46 0.51 0.42 0.44 0.49 0.61 0.60 0.63 0.53 0.57 0.63 0.42 0.52
X 0.05 < 0.06 < < < < < < < < < 0.06 < <
0.1 < < < < < < < < < < < < < <
0.0002 < < < < < < < < < < < < < <
0.005 < < < < < < < < < < < < < <
0.004 < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
& 0.001 0.001 0.002 0.005 0.004 0.007 0.006 0.003 0.002 0.002 < 0.002 0.001 007 < 0.003
0.002 < < < < < < <
0.001 0.001 0.002 0.003 0.002 0.003 0.003 0.003 0.003 0.002 0.001 0.002 0.002 0.003 0.001 0.002
0.001 < < < < < < <
0.001 0.003 0.006 0.012 0.008 0.014 0.013 0.009 0.008 0.006 0.002 0.006 0.005 0.014 0.002 0.008
0.002 0.002 0.003 < < 0.003 < <
L 0.001 0.001 0.002 0.004 0.002 0.004 0.004 0.003 0.002 0.002 0.001 0.002 0.002 0.004 0.001 0.002
0.001 < < < < < < < < < < < < < < <
7 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < < <
TANI=ZD ARG ZDOEY 0.01 < < 0.01 0.01 0.02 0.02 0.01 0.01 < < < < 0.02 < <
% B 0 £ & W 0.01 < < 0.01 < < 0.01 < 0.02 < < < < 0.02 < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FrIV ARG EDOIAEY 1.0 5.5 5.5 5.5 5.5 6.0 6.1 6.4 6.3 6.1 6.3 6.1 6.0 6.4 515 5.9
~VYH R EOEY 0.005 < < < < < < < < < < < < < < <
O R SR 1.0 : 6 6 6 8.2 8.2 B
NGB = TRy L E) 1 41 48
r_E B 7] 1 67 83
e+ 7 > nomwmw 0.02 < <
Y = X A = v 0.000001 < 0.000001
2-AF AN AV BN FA — N 0.000001 < <
H A A v R OwE E A 0.005 < <
7 = J o= o # 0.0005 < <
Ay (AR (TOC) #&) 0.3 < 0.3
pH 5.8~8.6 7.1 7.3
S W
2 £
i) K % ) 0.5 < < < < < < < < < < <
# o g ) 0.2 < < < < < < < < < < <
% o #H # 0.1 0.2 0.2 0.2 0.2 0.1 0.1 0.1 0.1 0.2 0.2 0.3

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

A

No.13




TR AR

(REPJIARR FHaBiKi)

TG

H H it 4150 | 5H14H | 6H10H THSH 8H13H 9H9H | 10H28H | 11AI8H | 12/9H | 14200 | 2H17H 3J3H PN /Mt
K il 13.5 17.4 19.5 22.4 28.0 28.3 22.2 19.4 14.8 8.6 6.8 7.5 28.3 6.8 X
[ - AE 5. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N ] AR AR AR AR AR AR ARt ARt ARt ARt ARt At At At At
HEIY AR T E 0.0003 < < < < < < < < < < < < < < <
AR 0.00005 < < < < < < <
Ly R EC 0.001 < < < < < < < < < < < < < < <
kU % 0 0.001 < < < < < < < < < < < < < < <
E#E R E O 0.001 < < < < < < < < < < < < < < <
A iz m oa 0.001 < < < < < < < < < < < < < < <
#off M fE 0.004 < < < < < < < < < < < < < < <
T MAF RO 0.001 < < < < < < <
Sk | 4 HF T UV F 0.10 0.36 0.26 0.33 0.38 0.28 0.48 0.53 0.47 0.59 0.43 0.43 0.41 0.59 0.26 0.41
kR % o 0.05 < < 0.06 < < < < < < < < < 0.06 < <
I RN 4 0.1 < < < < < < < < < < < < < < <
# 0.0002 < < < < < < < < < < < < < < <
D 0.005 < < < < < < < < < < < < < < <
=FL 0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
E 0.001 0.004 0.010 0.015 0.012 0.016 0.010 0.007 0.004 0.005 0.001 0.003 003 0.016 001 0.007
0.002 < 0.002 < < 0.002 < <
0.001 0.002 0.002 0.003 0.002 0.003 0.003 0.003 0.002 0.001 0.002 0.003 0.003 0.003 0.001 0.002
0.001 < < < < < < <
0.001 0.009 0.018 0.025 0.020 0.028 0.019 0.015 0.010 0.009 0.005 0.010 0.009 0.028 0.005 0.015
0.002 0.006 0.004 0.004 < 0.006 < 0.004
i 0.001 0.003 0.006 0.007 0.006 0.009 0.006 0.005 0.004 0.003 0.002 0.004 0.003 0.009 0.002 0.005
0.001 < < < < < < < < < < < < < < <
7 0.005 < < < < < < <
CE O N S = ) 0.01 < < < < < < < < < < < < < < <
VAR ZEDOHEY 0.01 < 0.02 0.02 0.02 0.04 0.03 0.02 0.01 0.01 < < < 0.04 < 0.01
& R B 2 o f & B 0.01 < < < < < < < < < < < < < < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FTrIv ARV EDOHEY 1.0 6.3 6.7 6.8 6.5 7.1 7.2 7.6 7.2 6.6 7.1 8.0 7.6 8.0 6.3 7.1
~VYH R EOEY = 0.005 < < < < < < < < < < < < < < <
W ok B A *+ v = 1.0 8.0 7.6 7.5 7.5 7.5 12.1 12.4 7.2 8.7
AN L= T Ry N )Y ) =300 1 23 28 28 26 31 32 25 34 23 28
Focd ¥ % L7] 1 46 46 38 58 57 65 63 65 38 53
e 7 > % mw 0.02 < < < < < <
¥ x * A 2 v 0.000001 < < < < 0.000003 | 0.000010 < 0.000010 < 0.000001
ZAFNAYE N RA = 0.000001 < < < < < < < < < <
H A A v F o IE A 0.005 = = < < < < <
7 = J = N H 0.0005 f— f— < < < < <
Ay (AR (TOC) #&) 0.3 < < < < <
pH 5.8~8.6 7.8 E E
S RERL
82 £ Sl
& K % ) 0.5 < < < < < < < < < < <
i) g k) 0.2 < < < < < < < < < < <
23 kil i # 0.1 0.2 0.2 0.2 0.3 0.1 0.2 0.2 0.3 0.2 0.2 0.2

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

ER)RFR

No.14




RELK )

TG

H it 4150 | 5H14H | 6H10H THSH 8H13H 9H9H | 10H28H | 11AI8H | 12/9H | 14200 | 2H17H 3J3H PN /Mt
K 15.7 17.9 22.0 24.0 28.7 29.0 22.1 18.8 13.4 7.6 7.7 8.1 29.0 7.6 9
i A 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N AR AR AR AR AR AR ARt ARt ARt ARt ARt At At At At
HEIY LR 0.0003 < < < < < < < < < < < < < < <
K H R TG 0.00005 < < < < < < <
tLy R W 0.001 < < < < < < < < < < < < < < <
FA SO 0.001 < 0.002 0.002 0.002 0.004 0.003 0.001 0.001 < 0.001 < < 0.004 < 0.001
e SN 0.001 < < < < < < < < < < < < < < <
A iz m oa 0.001 < < < < < < < < < < < < < < <
#f§ M MR % 0.004 < < < < < < < < < < < < < < <
T MAF RO 0.001 < < < < < < <
PR BT ST N 0.10 0.41 0.42 0.42 0.41 0.23 0.40 0.44 0.38 0.46 0.34 0.31 0.31 0.46 0.23 0.38
E U2 o (b 0.05 0.05 0.05 0.09 0.06 0.11 0.11 0.10 0.09 0.09 0.08 0.09 0.10 0.11 0.05 0.08
R ® o f 0.1 < < < < 0.1 0.1 0.1 0.1 < 0.1 0.1 0.1 0.1 < <
# 0.0002 < < < < < < < < < < < < < < <
D 0.005 < < < < < < < < < < < < < < <
=FL 0.004 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.001 < < < < < < < < < < < < < < <
0.06 < < < < < < < < <
0.002 < < < < < < <
% 0.001 0.003 0.007 0.009 0.006 0.008 0.006 0.004 0.002 0.002 0.001 0.002 0.002 0.009 001 0.004
0.002 < 0.002 < < 0.002 < <
0.001 0.003 0.003 0.005 0.004 0.010 0.008 0.006 0.004 0.004 0.003 0.004 0.004 0.010 0.003 0.005
0.001 < < < < < < <
0.001 0.009 0.015 0.022 0.015 0.030 0.024 0.017 0.012 0.010 0.007 0.010 0.011 0.030 0.007 0.015
0.002 0.004 0.003 < < 0.004 < <
i 0.001 0.003 0.005 0.007 0.004 0.009 0.007 0.005 0.004 0.003 0.002 0.003 0.003 0.009 0.002 0.005
0.001 < < 0.001 0.001 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.002 0.003 < 0.001
7 0.005 < 0.006 < < 0.006 < <
B kR E DM E Y 0.01 0.03 0.03 0.03 0.02 0.03 0.03 0.03 0.03 0.04 0.04 0.03 0.04 0.04 0.02 0.03
VAR ZEDOHEY 0.01 < < 0.01 0.01 0.02 0.02 0.01 < < < < < 0.02 < <
& R B 2 o f & B 0.01 < < < < < < < < < < < < < <
e % v =2 0 £ & B 0.01 < < < < < < < < < < < < < < <
FTrIv ARV EDOHEY 1.0 10.3 42 8.5 11.6 21.7 21.8 20.3 19.5 18.7 19.4 20.5 21.8 21.8 7.9 16.8
~VYH R EOEY = 0.005 < < < < < < < < < < < < < < <
W ok B A *+ v = 1.0 9.5 7.5 8.0 10.7 16.8 16.6 15.5 19.6 19.6 5
ANVY LT Ry LFECH ) =300 1 34 37 37 37 42 42 43
Focd ¥ % L7] 1 78 60 61 70 78 87 87
e 7 > % mw 0.02 < <
¥ x * A 2 v 0.000001 0.000002 | 0.000005 <
ZAFNAYE N RA = 0.000001 < < <
I A A v R om i A 0.005
7 E3 / - v H 0.0005
B % (2 B B (TOC) ) 0.3
pH 5.8~8.6
S
2 £
& K % ) 0.5 < < < < < < < < < < <
i) g k) 0.2 < < < < < < < < < < <
23 kil i # 0.1 0.2 0.1 0.1 0.1 0.2 0.2 0.2 0.3 0.3 0.4 0.2

T FRMEA, AR AR T,

B, FRARORVIRY | mg/18T %,

ER)Tifi

No.15




